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MLmibET
in XeF, molecule 1S

(A 5
(C) 6

of lone pairs of electrons present

B) 4
o)y 3

has been accondad the honor
m's:r-_.-a Kawi” of Haryanvi music genres
Raagni and Saang.
{A) Surdas
(B) Kurmadas
{C) Lakshmi Chand
(D) Nona of the above

10 10 larms.

Nl—*
d‘ll-l-

b
2’

5 -5
A 3 | =

3, Find the valua of -

1

IC) — (D) Mone ol these
Bl

4, Wil thie last king of Tomara dynasty
whi nanded over the throne of Delhi 1o his
son-in-law Prithvira] Chauhan

(B) Mahipala
(D) Gopaia

&) Viayapala
(iC) Amangapaia

5. The Article of Indian Constitution which
provides for egual opparunities for all the
people in public employment
(A} 16 B 17
(cy 14 (&) 15

8. Who won the Runners-up titte of FIFA
Foolball Warld Cup 2018 7

{A) Russia
(B} France
(C) Croatia
[0} Monae of the above

7. 'Piliya" will ba sung during occasion of
(A} Birth (B) Marriage
(C) Death (D) Holi

—————y

IIIIIII
qu, i -
m;‘ﬂ mﬁ“ﬁﬁﬁimgmﬁﬂ
(A)
© s o 4
(0) 3
2 a;—.__,_ﬂHIMrﬂliiﬂﬂtnﬁ-ﬁ st min
"W WA ey v By
WA e
(B) ¥uiamg
AG) e
(D) 3% # A = 3
0 s o R
3 gtgtpe TR 0T mE I 4
K =5 J"i Ti:‘I
(A) 3 Br 14
1 amial b
© ©) Fdwa 1ol
" A am w1 s o R
wm g fam
(a) Frsraarer (8) TN
{C) T (D) T
5, i Al W AR TR
# it #eT w2k
) 16 B 7
(C) 14 @) 15

6. e Tz fiva ww 2018 W Tl fodmn
Lok i

(A) ¥4 tn =

AB) Fiw AR ALY R

() wfirm

(0) w3 3wl 7] 5-+1i!+n-i-
7. ifemr % e e s

AN I (8) faame

(C) 57 (D) wreft £#4°
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A) 5 B) g
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(A) 5 (D)
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P—ER 0

=1 1 gp08®
gaannnnn ' -

; N)
-1, k(K€ -
8. 1P = 2% =1 In divigiyg aft Pn), - E;Enﬂ: i’ﬁqw!j K

all natural nUMbers n k'I'-H. (k @ N) for 8. ® 9 bl
[r: : ®) 9 @l> ©) ¥ 3 .
e ) None of ¢ © i fetr B
hoad T
g. “Sholkh chilll kn Matbary’ I8 sityal g gl ﬁﬁﬂ wl W
(A} Agrohn ®) E"“" ed In (A) ST (D) AT
(G} Hisar (D) T"'-IIHI:IMr _,“:] fit at "-Fﬂ mﬁl"ﬁ'ﬂ_"
10, Imvwiich ona of the place A & o
ro0ording staion i notlocateg y 0 | | R TRT g
(A} Kolkatin (8) “ﬂdaikm| (A) Careranl 'ED'} E‘i
(G} Puno (D) Mumbai _|,1:]I Tﬂ F1 M
11, Following Is not a pan of human sperm qy, Frefefam i & BT L
k7
{A) Acrosomae (B) Miochondria m e (8) mﬂﬂﬁﬁm
(C) Axial flament (D) Antrum (Gl ¥k 7 (@) .
12. Haryana recently celebrated is o AT AN I e
foundaton day. — = ﬁlﬂ' T -
ETT L
(A) 42m (B) So= 44 a2 d (8) sodl Lyt
(c) s3" (D) 55 i) sadl (o) ss4l -i
13, A number consists of three dighs whose | 13. 1% s #ra 3wt @ = ® firrer am 17 8) <2
sum is 17. The middle one exceeds the da aren Wk At & g & 1 e B ofd 3
sum of the other two by 1. If the digits be

revarsed, the numbar i diminished by 386,

sl w1 w5 were fran g wen 306 W 2!
then the number is o e 8, M s é §I
(A) 494 (B) 503 (A) 494 (B) s93 =
(C) 881 (D) 682 1(C) 681 4B} 692 _-_....,l' i
14, {5 the smallest and tha fastest | 14, FOEE | qan o m"’" "
memory In computer. #xrl B 14 15%
(A) RAM (B) ROM (A)_RAM (B) ROM
(C) Cache (D) Har i &) %o 0) Ty cas
5. s the first Indian wroster 1o | 15, fova vt whvena # @) e
win Two medals at the World Wresling TG g At
Champlonships. : () firrg Sz +
£ -1 {A) Vinay Phoga (B} wmaf sfty LAY
‘ (B) Sakshi Mallik AC) e oy 1—‘9"
{53 Bane Pur;lln ©) glie o y i wh
1-{ D) Sushil Kum | 16, T vy ) )
20 16, Find the missing terms: b.b.bb _b_bbaih
Ky 'Dl_h_t:.bﬂb_bbﬂbb_ abaa {A) agabp = .
(A) aaabb (8) bbabb (C) ababh (B) abagg
= bb (0} _ (0) bbg
o] = (C) aba =3 " bb
t T ﬂﬁ?ﬁﬁ&h %
T R
4., T RAREE DT b b
¢ ?* i 3 \q}'p_?.ﬂ’-

| Uel = =f
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17. Orderoltha ciffersntial equationrepresenting | 17, TEERIy: = dax HIRET T AT 376er
the family of parabolas y* = dax is FiEm E FA R
(A 2 (B) Not defined A 2 () P
c) 3 ) 1 (c) 3 @ 1
18, Index number of the lastelementof anarray | 18, o wrtarel T SR 3 T e 1 FEHE
with 9 elements is we h
A) 9 8) 10 (A) 9 (8 10
C) 8 o) 0 iC) & (D) 0
19. India’s first Bullet train will run between 19, v & wesf a3 # *
(A) Gandhinagar to Mumbal e it
-I.A:l ifi #
(B) Ahmedabad to Mumbai ﬁ
(C) Delhi to Mumbai [{;:. ﬁﬁnﬁgﬁ
(D) Surat to Mumbai (D) o & g
20. Anil introduce Rohit as the “son o theonly | 20,  31fe Tifim =1 oftem awk e L geh &
brother of his fathar's wile”. How is Rohit weehtd wné & g1 % w0 A wom B At =
relatad 1o Anil 7 s BwEnaEal?
(A) Cousin (B) Son &) T T B
{C) Uncle (D) Brother (C) wm (D) wré
21. Which of the following decides the eastem | 21, frafafm 4 & 99-m e | woem 8
boundary of Haryana by separating it from Fem w0 g vl gl i Pifm s 7
Uttar gmdaah? (&) Tm
(A) Ganga .
(B) Yamuna AB) TgT
(C) Ghaggar Hakra (C) W R EFT
(D) Chandigarh (D) wEng
22. This district of Haryana is having least | 22. &wwer ¥t gfi2 & wfrren = wad =3 qen §
amount of forest in terms of area wreraren faen _
(A) Rewari (B) Fatehabad (A) tadt iB) wAEETE
(C) Gurugram D) Jind (C) T D)
23. ?ﬁ";ﬂﬂfﬂdﬂ? functions are 23, finnfa e R
ong functions which
(B) One function cu:'cua?:;:nngmﬂmn:,h (A) e T S e T
tunciion in - (B) v S fawt gEm WA e b
(C) H:I?‘Blcl:?;nen;a :g;ﬂ;:i;rm same (C) ¥HH M, TN o T F wu AW
(D) Two or more lunctions with s FiteR FH
but different number of parametec D) M W 2 fm HR 71 W R
type maters or
L ae & ' 2 st s

-
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24 1. National Institig l:ﬂlh Teir base:
Solar Energy * Gurugram
2. Raja Ramanna Centra
for advanca technoig - Indore
3. National Dairy W
Research Instityte  Kamai
4. National Bureay of
Plant Genatic 9 New Deihi
Resources
Select the correct o
e el m%"‘f gwa*n below :
By 1-a 2-p d-¢ 4-d
€) 1-a 2-q 3_p 2-¢
(D) None of the aboye ¢

A capacitor filled :
ol parmitivity €, = :;'?ﬂ:ﬁ:lzlﬁrt:c
charge acquired dl.lfil'lg & time int t HI
r= 3 minutes, A ngthe m;ﬂ:::?
through the dielectric material, the resistivity
i§ (charge decay takes place according 10
Q= qGH.LW-' and hall tima T“ = 0,603 AC)

(A} 139x10%0m (B) 25x 10" am
(C) 1.39 =10 Om (D) 25x 10 Om

was a major rebellion agains

Aurangzeb, the Mughal Emperor, occurned

in Narmaul and surrounding localities in the

year 1672, which was led by Sadh people.

(A) Sikh revolt (B) Sepoy mutiny

{C) Satnami revolt (D) None ol he above
is the world's oldest still-functional

1855 — built steam locomeotive.

(A) Kalka Shimia train

(B) Fairy Queen

(C) Palace of whioels

(D) None of these - a

the anciant name

The Jojaka Dhu ¥ES (8) Saurastra

(A) Allahabad D) Kanpur

() Bundetkhand |

{ & liguid
The lorcas acting on .-:u:;gg 1: ’
placed on & I'Ii:Ilr"II':J!"l:"l

(A) Force due 10 ﬂuﬂnlﬂﬂ rension
(8) Foroe due 1o 98
4€) Both (A) and
(D) Force due

25.

a7,

28,

3/2018 (5)
Frefirftan ) 3 s ¥ wgER swafm
1 Tﬂﬂiﬁtmﬂm a. TEI
2. T (AT IW b
wwATE W

3, T ¥l HIRUA —o. WA
HER

4, T ar sgERR d. 7§ e
TR =0

et i e ey Faree g
top 2.c 3_h 4-d

@ 1-a 2-b 3-c 4-d+
©) T-a 2-d 3-b 4-¢
(D) 3 & & wrf 7l

fagafter e, = 2.1 % U SR | T

ufm v B ol wom s« = o R E

#o afes =mn s o wt 2 ) T T
fir: sminn e argfes gend B R T

g‘}ﬂfﬁiﬁmﬁn!

(1 w1 q = g 6™ % SR AR & 3

sni @90 T, = 0.693 RC )

(A) 1.39x10"0Om (B) 2.5x10"Om

(C) 1.39% 10" 0Qm (D) 25x% 10 Om

w1, firere e Wi @it g Fo
AA) fmhﬂ 18) famé fde
(C) wermdt {0) T & 0 Al
Form w61 srefierm st ot 1855
\) SETETRT e g9
55) St wtn
(C) Nerm afs afreq
(D) ¥l & % o
m"ﬁ% __w
»A] ETaIE (B) mWWI
ﬁm% P) wg
' TR o Tl
FaTa e b bl S
(A) gty wama & e wm
(B) TR ik ww ww
(C) (A) i (B) 2t
(D) = % wro we
L

/
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30. Three maried couples ane to be seated I
a row having six seats in a Cinema Hal
Find the number of ways of thelr seating f
all the ladies sit together.

(A) 36 8 72
(C) 144 (D) Mone ol theso

The process of brnging & wild apeches e
human managoment is refarmad 1o a8

{A)  Acchmatization

(B} Imtroducton

(C} Domeasbication

(O} None of these

The highway research board was set up In

e yoar

(AY 1973 By 1853
(Ch 1963 (D} 1847

CPU of smalles! singie user compuler
(A)  Micro-processor

(B} Mini-processor

({C) Nand-processor

(D) Parsonal processor

Recently P.M. Narendra Modi inaugurated
Inclia’s longest bridga in Assam, it's named
afer

(A) Mohammad Rafi

{B) Manna Day

{C) Kishore Kumar

{0} Bhupen Hazanka

Choosa the pair ol words that shows
the same relationship as given pair ;
Scalp : Hair,

{A) Home : Cattie

(B Mail ; Nadpolish

(Gl Grass: Earth

(D) Fur:Cap

¥, A= hen A'+I1;n

—3
I

V6 -

(A) 4430

J5
(B) 22

1Y

ul
l'J 1l“.1 L
- |

(] .l‘1l? &

o
M
30, oftw [wenfon qued w) o s wfe i

0 wel oo vifin i Barar By b iy v

o) atewmn i wd afi ol rfieen s @ o v

darm k|

~(N) 20
Gy 144

) 2
(D) e o and A

31, o el warfa o i & st FA

) wlaa wenrdh B
(A) e \
AB) w1y 3

(C) viteg AT
R EBENEL

32. wampl A aint # ey 7RO
(A) 1973 48) 1953
(C) 1963 (D) 1947
33, T W2 U T a1 b
(A) mﬁumm
(B) fesftaram
AC) =gt
(o) fl grae

34, Wﬂﬁﬂauﬂﬁ-}mﬂﬁm#mﬁﬁﬂ

T

_AA) witem T
(B) W E

(c) Frein Fm
(D) S T

i w6 A v i s A sy b 8,
o ™1 ; 9L

(A) ;99

(B) e : Jeraifern

AC) T ; u

(D) W : 2t

qﬁh'ﬂ'ﬁjﬁ

(A) 430

ﬁTH'+_1'.=
A?

B) 22

©n (D} None of these

B

(€ 1 (D) w8 & w1

Q‘"I-ﬁf‘# S

Fe . e\
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37, Which one
matched 7 " Wlloying .
Eg; gﬁm : F“‘":Eg
TS Eﬂﬂ N Lnﬂ"lhm_,.,

3/2018 (5)

ﬁﬂﬂn-mnﬁﬂﬂﬁ’rﬂﬂ!?
3. {ﬁﬂﬁﬁﬂm o
(B) wrEr-urgl =



S G OY Ll canner

7. Which onig

of the 4
matched 7 " Olioy
(A) Goat.y Wisn

|
(B) Horse . Foand
(C) Shaep.um:?
(D) EUHMO'FHHQ:E

':t‘lu::m-,..,c.F_L!Ir

Famous fort o
named I

39. Consider the i
ol Yiew of 5
:hﬂﬂ?:uﬂ"ﬂ’rml_mn H Uthoem lbDut Indus
owWing is noy Correctly ma o of
(A Gorden Childe . 1y,q Pmm?
thig
:ﬁmuu-_.-mw
(B) R.D.Banerisn - Th pamac®
Indus va Ware
Drahumn:}r :
= Thi Indys pdople
belonged to mixed
race
= The Indus peopla
balonged 1o
Mangolian race

(C) Dr. Guha

(0} John Marshal

40. One of the new age transport systems
called Pod Taxl is proposad in India, it's a
(A) Cab pooling system by using drones
(B) It's a Parsonal Rapid Transit
system (PAT)

Driveriass maglev train

(C)

(D)

41, Complete the analogud. "
TUEED.W - UUFSCAX :: F‘Tuoﬂ'lii
(A) TOVASED ) KD
(C) TOVAQED o)

3/2018 (5)

43. Amrita Pritam was honoured by Bharatiya

R R Ly L R

ar.

41,

4/2018 (5)

mﬁ;ﬂgﬁﬁ.ﬁmﬂ 1861H
# AT 1 img‘llh
HETAT
5::: wr’rIT'i"Tﬂﬁ‘d'ﬂﬂm
(c) s et fe
(D) i & wv§ el

s 3 finy wrt e ¥ g @ eEm
wi i 93 - fefafiam o % s-a1 Wl
gtfern et & 7
(a) M - fFyad &am
s wanfi
* 9
(B) W@, wrali - fing i wim
sfiz @
-~ flyg @m frfim
s B
- fly = oivfern
T F

TN ) ftaes gonferdt § @
mmﬁaammﬂﬁix
5

(A) 55 1 s g e o

(B) w ek drekde Yug T;Tntt
(C) i e Yoy

(O) S st vy werwren i
HeE

Eig%‘ﬂ“ﬁﬁnx - SQUARE 1]
(A T ASED B T 5 E:2T E’:.'

QUASED
C) TovaoeD @) Tavarep

(C) . 1m

(D) =7 b

CO81® gom 2° = .
e

Jo | 1
€ o (©) -1
|
(a5 L
-
-~

- |
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43, Amn‘lq Pritam was honoured by Bharatiya | 43,
Jnanpith award for her literary work

(A) Rasidi Ticket

B i -t
(B) Pinjar Al |
{C) Sunehade {C) ﬁa
(D) Kagaz Te Kanvas (D) = & faE i
44. Which one of the following is not a featur® | 44, Frexfrfr & & #3871 TF T T W
of Marxist perspective on state ? g ) e Fadrren 71 8 7 %
(A) State is an instrument of exploltation (A) =g rﬁmﬁﬂ;ﬁ A #
{B) Stale is temporary (BY =g 3l B .
(C) Classes never abolished (C) = wdi el ¥
(D) State is Universal (D) T T B
45. Rana Nimantrana, Guru Gobind Singhand (- 45, - T Freraren, e witfefe fire 3 g =i
Yuddha Charita are the warks of famous wfirg eftarovt wfa Lokl
Haryanwi poet (A) F2T W ¥
o e o -
raim s . m m -
ralyd i it Ly ol L
(C) Ayodhya Prasad Goyaly D) geRfim aaf

(D) Tulsiram Sharma Dinesh
% w752 i o wgp 9 s el & W

46. Select the word which is least ke other | 4§,

words in the group, hmk
(A) Lake (8) River (A) #= B
{C] Wind (D) Current (C) ®a (O) 9o
47. Comverse of the stalemant Tx:y=3 .2 47. maﬂm:'ﬂﬁx;yna:z?ﬁ
then 2x = 3y' is 2x =3y B
(A) Wx:ywd:2then 2x = 3y Al TRx:yed 2 2xe3 7
(B) Wax=3ythenx: :y=3:2 _,:E; ﬂﬂli;ﬁﬂﬁw:;li %;%’
(C) N2x=3ythenx:y=3:2 [E_ﬁ-aﬁﬂ'x:ﬁ.fﬁix:‘ftﬁfh
(D) None of these [ (D) v & = 3
48. Which Section deals with dowry death 7 FR-diamaafaga d 7
(A) 498-A of IPC » TTFWC fg, 498-A i
(B) 489-Aof IPC {B} IPC 1 489-A
(C) 304-Bof IPC tEGi IPC #1 304-B
(D) 304-A of IPC (D) IPC #1 304-A
49. Set of parallel printed lines with differ
; ant # fafim w9 &
thickness of black and white characters is s HHTWE n?m?ﬁﬁﬂ azt
(A) White code  (B) Magnetic coge [E:‘j wre F78 (B) T=F
(C) Colorcode (D) Barcode (C) FRFE (D) WM
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55.

81,

/2018 (5
{"} Eln Mac 'n:"h e whr ferfr @ o L
€) Ry I 80, )
Any Ngoli ﬂa; Mahe _IAT ardh =
In “ﬁ'&““'lrn Witk (D Al Ih.m: iG) Ir?hiff (o :
B Monopr, Mo . i i & s o ————
P ' ki
Al -
f:;} Olploig n{:i Polyploig ) v = ;@j:r.-
ngl Ha ( ) T
. | h nu‘ﬁ h LS I‘I{.' LB a e " L
19'15“"1 I OUr hang and g (/5; 10 : 109K %
(A) 1205 N the time | ' i dr e ? =
(C) 115 ;g; 12 (A) 1200 f Le™
Complate the - () 115 e
number, fo 1?,,:':;:‘“"""? With the given I‘ﬁi fan wu, R A TF r:-::v-f.‘. rﬁ-_-r r :
series. Whai will come i 1::“ o orginal | \7  <fifa) et raen 1 A IO 08 2
12 13 g 98 4:‘“”“" 4 T W P b e
b S (™ (v 12, o g e r,:i <¢
(A) 135 ) w0 m ) v
(C) 180 ® ns (A) 135 (8 115 -
In CPU © 7 (C) 180 D) 72 o
inﬁ‘rumhl:?;l-ﬂ_bﬁ‘_g'x—- Points 1o the next 54, 'ﬁ:rj-rq Y : in'?'-’;:r'ﬂﬂﬂ"!'"?‘-l;:rﬂ §
(A) Instruction register hﬁ:ﬂ;:ﬁ;ﬂ r1 Lkl ;,..a 3
(B) Program counter :5;; ;II':IW -~
(C) Memory butter register (C) HuT o v*¢“;
(D) Accumulator (D) TR e’
Who Is the current director of Haryana | g5, ¢mm dordl =ifemn sot =1 7989
Punjabi Sahitya Academy 7 frrmr Wt b 7
(A} Gurvinder Singh (A) el i
(B) Rakesh Sinha (B) TE firm
(C) Narinder Singh Virk (C) iz fire
(D) Ashwani Kumar R @ ik 2 |
In the series of latter a definte U8 11" gb, v et oy s 3 o B From
i ng ! E i ti 1 =F:I'
followed. Determine the NOXEFOT? i 5 —
HMAWDG : AJKTUBILSV HM%ME{Q ic
AJKTUBILSVCHMAWIL g LAl
[gi ;3 o) PZ (C) za (D) PZ
(L) ZA . gven PAMe | 57, T TTH Wi SwH T T ST BN FE T
The probability of '?,*’"'m . - 1 writE Sl
when a die is rolled '8 ’ i 2 5 3
w 2 ® 3 ; ™2
6 ; 4 © : (D) E
1 © < >
€ - 6 .
6 " L
O
ME”? - e ——

312018 (5)

58. Recently, Chiel Minister of Haryana has
approved signing of agreement lor
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58. Recently, Chief Minister of Haryana has ga, we i A, e i syl ?h'r—__'tii %
approved signing of agreement lor e w5 olfj:'ﬂ; : ;’!’ﬂm
would add new storage capacities on two = ) A e A W
tributaries of river Yamuna. P [
(A) Indira Gandhi dam R ,,m;;:m
(B) Bakhra dam [B_J Mg Wi . m‘
(C) Kishau and Renuka dam %gg m a:flff TopE]
(D) Anangpur dam -
g9, 2011 1 IR 6 FTAT TR T R
59. The states which have highest Density o e WA WA
Population according to 2011 census aré (A) st 3w T
(A) Kerala and Uttar Pradesh @) faem ;,m_qﬁa-n LG
(B) Bihar and West Bangal (c) frem 3 fereehl
() BharandDeh (D) THER ST JeC Han
(D) Bihar and Utar Prace £ Eﬁﬂl
60. Select the significance of meiosis. 50 ﬂmﬁrﬂwﬁa’hﬁﬁﬁm
(A) It helps in growth of multiceliular (A} i
ol i o e 8w
cell repair - (8) TE A i
Eg: :: mnﬁr::ams the same number ol (C) TE wﬁm * w *) T waf
chromosomes in daughter cells as of w8 i
parentcell - (D) e fafasmn e
(D) It creatas vana I
61, isastucture builtin Chandigarh | ©1. ﬁm“m:ﬂmﬂuﬂ“:m]m ;:"!“I T
by legendary architect, Le Corbusier. g =
(A} Close hand monument (A) WE B T
(B) Open hand monument :{g‘: i ::m
{C) Right hand monument o) tarwe Lt

(D) Left hand monument , .
82 Befors Indepandence, The high court of | 62. e g, eftamm 3fiy Jama 3= =rarew

Haryana and Punjab was situated at _ ufaman
(A) Amritsar (B) Rawalpindi (A) HAET (B) T
(C) Peshawar (D) Lahore (C) R (D) wmeh
63, Who was the first speaker of the Lok Sabha 7 | 63. ST 1 JuW ¥t 31 o 7
(A) Neelam Sanjiva Reddy (a) fem wera @
(B) M. A. Ayyangar (B) TH. T HIH
(C) Ganesh Vasudev Mavalankar i) mw e g
(D) Sardar Hukam Singh : tn':' HER T e
84. Geographically Haryana contains ___ | g4, wiifers w0 & efmon By
legistative assembly constituencies. e i
(A) 14 (B) 10 (A) 14 B) 10
(C) 70 D) 80 () 70 m m
L 10
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8. MAigy,
) Avig tria th
B) Az et N2
D} A'Ttﬂ smmm =
(D) None )
of | A
66. 7 is call he |._'t~,;}-
(A) Relay ~——_ Opera
tor,
(C) cﬁElln (B) C‘-‘lﬂd-w
67. Ba N ) LoDKa
(A)  Bankim Ch o whitlen
(B8) H‘Hbindran:;lm;: champaﬂ'l'ﬂ-_.l .
(C) Hassan Mohan i
Dy Muhammag labal
68. Which of

To.

.

T2,

; the lollowin doa
to the Snpla SInndm?' or :‘:::_'hﬁunu
méntioned in Rigveda 7 .

{A} Rawi B
©) Maanaa (5 S

Breeding Centre situsted inMomi Panchiuia

district is a purposa-buili
. cendre for th
breeding of ’

(A) Biue peafowis (B) Chinkara
(C) Pheasants (D) Indian vulturo

The Fadaral system with strong Central
Government has been borrowed from

(A) France (B) England
(C) Canada (D) USA

Hybrid computers are usad o

{(A) Convert the analog signals to digital
(B) Control air traffic and radar

(C) Work on binary digis

(D) None of the above

india won ICC under 19 wﬁ’ "E:p .,‘33"3'
the final match took b!t;'&ﬂ
{A) England (B) South Alnca

(C) New Zealand (D) Astele

" gama wiay
What is related 10 LTﬂf:lfh?“
as ‘Lira’ is related 10 Jamaica
(A) Jordan @

plpxico
() Bangladesh (O

&7,

69.

7.

T

13,
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74, H::E‘,y-ﬂ‘,:-a?‘anﬁﬁﬁz‘=1
then abe =
(A) 11. (B) 27
(C) = {0) o

78. Initiation of milk secretion is called

(A) Lactogenesis
(B) Galactogenesis
(C) Galactoplosis
(D) MNone of thesa

T6. According to Vayu Purana, which of the
foliowing place is believed as the birth place
of Lord Hanuman ?

(A) Karnal {8} Hisar
(C) Kurukshatra (D) Kaithal

77. Consider the following about Rousseau’s
General will and choosze the correct
statameants.

i, General will is the expression of inner
will,

Ganeral will is infalliable.

It = tha best will of the individual

bv. General will is impersonal.
(&) 1, i and iv (B) iand i only
(C) andiv D) all the above

deals with the synthesis of
pyrrole derivatives by the reaction of
[-keto-esters with a- chiorokeiones in the
presence of ammonia or primary amine,
{A) Paal-Knorr synthesis
(B) Knorr pyrrole synthesis
(C) Hantzschpyrrole synthesis
(D) Madelung synthesis

T8.

79. If 1:;:{20 than

(A) x=x2

B) x>2

(C) =2sx<2
0) xz20rxs-2

80. The criteria of essentiality of nutrient
elemants were given by
(A) Nicholas
(B} Amon
(C) Parker
(D) Amon and Stout

= e

-12-
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74 WRx=3y=9, z=27 MM ym

iﬂﬂhﬂn

(Al 1 (B 27

75, guH

| g At g 4 iR

i, W YT 3T 8

i, e uw sfEy ) waETen g R

.. ETT g At R ) i

(A) I, il S iv (B) e i 3

(C) i iv (0) Fwa ol
78.

sfurfirm & oot wremm bl
% ol agﬂ:ﬂ i |

£

-

D) xz2Mxg-2

-

Sy

80. UPTE ! SETET
o e
(A) Frerem
(B) i4- .
(C) - X2

(0) A st
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U

{A) 6 October 1
Egi 1July1mﬂm

1 September 1
() None of the Lbﬁlﬁ

Firsi Super-compunter of India ig

(A) CRAY3 (B) HiTa

(C) PARAM (D) AH"!’EBEIA‘E?:
Most sit

cmuu?n: :.‘nillnll;‘u: xm:ﬂm?m“"
actually found along the bed of the oy
{A) Ganga river

(B} Yamuna river

(C) Ghaggar Hakra river v
(D) Bias river 2

in CE configuration, If the voltage drop
across 5 ki) resistor connected in the
collectar circuit is 5 V. Find the value of Iy

whan [ = 50.
_{B) 0.25maA

(A) 0.01 mA
(C) 0.03mA (D) 0.02mA

is the most widely spoken dialect of
Haryanvi,
{A) Bagri (B) Bangaru
(C) Ahirvati (D) Khariboll

In an examination there ara 3 multiple
cholca questions and each question has 4
choices, Number of ways in which a student
can fail to get all answer correct is

(A) 11 B) 12
(C) 27 (D) 63
Modaern computer keyboard generally
contains keys.
(&) 104 (B) 53
) 28 (D) Allof the above

Highest magnetite ore available in India is
A} Orissa

(B) Chhattisgarh

(C) Kamataka

(B) None of the above

‘.r«? ""L{F

3/2018 (5)
P L E s R
(A) 6T 1860 .
gy 1 W 1862
1 foaat 1873
“ﬁ s 8 @ i 7
82, T w6 e g e
(A) CRAY3 (B) HITAC §-300
() v D) Fmh
g wgoan s fog wr) wvm
B ¥ e wea % () T
ra - amg wm ¥
P (A) ’Fﬁﬂjﬁ
' g) TR
S o) T G
ek
ga. CF fammm #, aft 5 kn wfeivw # drew
firrere 5 v & W i waves wfow Am k, A
i = 50 BF 9L | % HIE 709 W
(A) 0.01 mA (B) 0.25mA
(C) 0.03mA (D) 0.02mA
Bs. i ) watfies aeh s
(A) (B) wimE
(€) sufieard 4D) wrdraE
86. i & i v freen v B 8 ot
Wk v B u e g g, P we 2 o
wr ) el o ol e A e B wen b
(A) 11 (B 12
(C) 27 D) 63
87. amyfre sopr ek & wm:
gma?’é“ —
\) 104 (8) 53
(C) 26 (D) ¥Fa oy
B88. wa #§ zeym fezier R #
Iyerey B
(A) ¥t
(B) wEmE ;
(C) wAtew A
(0) 3w d & wrf Tl ® £
- o2 o e = '
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(B} None of the above
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mmmm;,um&wm

89. (A)
B)
(C)

(D)

90. (A)
(B)

4C)
D)

Salect the correct option for the
the foliowing sanlencas |

01, They mest reguiary at aach ather's house: |
{A)] distributive pronoun

(B)
(C)
D)

help
(A)

(D) 7w i & = 2l ® v
- 0. # " - i

English Language

?

done wel
o the

Each of the scholars has
Neither of them was inwited

w
| was tanwmmumrmﬁm
was dead

| am as tall as sha is
| swim better than him |
He gave me an advice
Batwmﬂmardmvziﬂa:rﬁmdarﬁ
umﬂinedwnfdlﬂl

indefinile pronoun
demonstrative pronoun
reciprocal pronoun -

of his friends have came forward fo
Fim.
Indafinite pronoun

Select compound sentence from the following :

(B)._Intefrogative EWM

(D) Demonstrative pronoun

g3. (A) |told him that he would be promoted
(8) When the siren sounded, all traffic

came o a stop
(C) Heis a scientist and & philosopher too
(C) Smoking is bad for health
(A) You can go by bus or by train
(8) |shall do as | like
()

When we wenl thare we found that he
had gone
(D) The annual spors will be held lomomow

ee—— ———
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AK) ¥ 3 g
viB) ¥nafe s oh
JC) 03 feh wamn

D) ¥mbd s am

9. o formye

(A) e ¥ (B) =
C ™ (D) 7=
97. THATRITAT rR W Y
(A) = = fom amE
(8) ¥ vit yarfera 7 F
(C) WA
(D) W A
o, TermmER?
(a) fm
(B) FfeaTE =
{C) ¥=
(D) wAA
99. w@mmﬁﬁ:ﬁﬁzt
) 5érs + 3@ () T + T
) v+ (OIS
o mﬁﬂwg-mmﬁmﬁzMF'f
AA) mﬁgﬁmml
8) miM-‘lﬁ!ﬂtl
(€ mﬂﬁmmtl
) ﬂﬂﬁﬁm’fa’m'
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